

Bill To:

JOHNS TRACTOR WORKS
 JOHNS TRACTOR WORKS
 444934 E HWY 60
 VINITA OK 74301

Ship To:

JOHNS TRACTOR WORKS

Opened: 12/22/2015
 Work Order No: 01-28683
 Pickup Date:

Responsible Tech: JOHN
 My Ref: 19166MF175
 Delivery Date

19166MF175 CHECK BEARINGS AND PULL HEAD & PISTONS

Item	Type	Description	Qty	Tax	Price	Discount	Net Price
JS1		Unit: 3365 Model: MF175/w/ loader S/N:9A52407					
		Tag: purple wave Desc: MF175 - 5,889.3 Hours					
		JS1 12/10/15 Aired the tire up and pulled the tractor in. Started removing the pan. Jacked up and put jack stands under the tractor. Tire is flat again. Removed the pan and pulled the bearing. Need to pull the head, bearing looks good.					
47P97	SL	RECONDITION	3.1833		\$55.00		\$175.08
17520A	PA	AI - OIL FILTER	1.0000		\$9.00		\$9.00
11C16	PA	AI - AUTOMOTIVE WEDGE BELT	1.0000		\$7.68		\$7.68
VPE3904	PA	AI - THERMOSTAT	1.0000		\$8.68		\$8.68
RP371292	PA	AI - GASKET (5 PACK)	1.0000		\$9.06		\$9.06
Freight Inbound	PA	OP - CONVERSION GASKET SET	1.0000		\$48.29		\$48.29
MU5LT1004	MC	Freight Inbound	1.0000		\$12.05		\$12.05
M41158041	PA	OP - HEAD GASKET SET	1.0000		\$42.54		\$42.54
D8NN9N074AA	PA	OP - PISTON RING SET	5.0000		\$17.05		\$85.25
BULK30GAL	PA	TI - FUEL FILTER	2.0000		\$4.73		\$9.46
51157	PA	WA - 30W Bulk Motor Oil	1.5000		\$11.41		\$17.12
ANTIFREEZE	PA	OR - Oil Filter	1.0000		\$15.67		\$15.67
	PA	WM - ANTI FREEZE	1.0000		\$12.99		\$12.99
						Total:	\$452.87
JS2		Unit: 3365 Model: MF175/w/ loader S/N:9A52407					
		Tag: purple wave Desc: MF175 - 5,889.3 Hours					
		JS2 12/15/16 Removed the head and piston for partial rebuild. Began cleaning the piston for new rings.					

Bill To:

JOHNS TRACTOR WORKS
 JOHNS TRACTOR WORKS
 444934 E HWY 60
 VINITA OK 74301

Ship To:

JOHNS TRACTOR WORKS

	SL	RECONDITION	3.3333	\$55.00	\$183.33
				Total:	\$183.33
JS3		Unit: 3365 Model: MF175/w/ loader S/N:9A52407 Tag: purple wave Desc: MF175 - 5,889.3 Hours JS3 12/21/16 Cleaned the piston grooves out but still need to clean more.			
	SL	RECONDITION	5.2500	\$55.00	\$288.75
				Total:	\$288.75
JS4		Unit: 3365 Model: MF175/w/ loader S/N:9A52407 Tag: purple wave Desc: MF175 - 5,889.3 Hours JS4 12/22/16 Completed cleaning the piston grooves and tops.			
	SL	RECONDITION	0.3333	\$55.00	\$18.33
				Total:	\$18.33
JS5		Unit: 3365 Model: MF175/w/ loader S/N:9A52407 Tag: purple wave Desc: MF175 - 5,889.3 Hours JS5 01/07/16 Cleaned the block surface and checked in parts.			
	SL	RECONDITION	1.3333	\$55.00	\$73.33
				Total:	\$73.33
JS6		Unit: 3365 Model: MF175/w/ loader S/N:9A52407 Tag: purple wave Desc: MF175 - 5,889.3 Hours JS6 01/07/16 Honed the cylinders and installed a new thermostat in the hood.			
	SL	RECONDITION	1.6667	\$55.00	\$91.67
				Total:	\$91.67
JS7		Unit: 3365 Model: MF175/w/ loader S/N:9A52407 Tag: purple wave Desc: MF175 - 5,889.3 Hours			

Bill To:

JOHNS TRACTOR WORKS
 JOHNS TRACTOR WORKS
 444934 E HWY 60
 VINITA OK 74301

Ship To:

JOHNS TRACTOR WORKS

JS7 01/08/16 Installed rings on the pistons.										
SL	RECONDITION	0.2500	\$55.00	\$13.75						
					Total: \$13.75					
JS8	Unit: 3365 Model: MF175/w/ loader S/N:9A52407									
Tag: purple wave Desc: MF175 - 5,889.3 Hours										
JS8 01/11/16 Began installing pistons in the block. Had to remove the head studs.										
SL	RECONDITION	1.1667	\$55.00	\$64.17						
					Total: \$64.17					
JS9	Unit: 3365 Model: MF175/w/ loader S/N:9A52407									
Tag: purple wave Desc: MF175 - 5,889.3 Hours										
JS9 01/12/16 Installed pistons 1,2 and 3. #4 has a broken ring.										
SL	RECONDITION	1.2500	\$55.00	\$68.75						
					Total: \$68.75					
DW1	Unit: 3365 Model: MF175/w/ loader S/N:9A52407									
Tag: purple wave Desc: MF175 - 5,889.3 Hours										
DW1 02/05/16 Torqued all rod caps and main caps. Installed the oil pan and pump. Installed the head.										
SL	RECONDITION	4.2500	\$55.00	\$233.75						
					Total: \$233.75					
DW2	Unit: 3365 Model: MF175/w/ loader S/N:9A52407									
Tag: purple wave Desc: MF175 - 5,889.3 Hours										
DW2 02/05/16 Torqued the head and tested the injectors. Installed the injectors. Changed the oil filters and filled with oil. Changed the fuel filter. Hooked up the temp gauge and installed the intake and exhaust.										
SL	RECONDITION	1.9000	\$55.00	\$104.50						
					Total: \$104.50					

Bill To:

JOHNS TRACTOR WORKS
JOHNS TRACTOR WORKS
444934 E HWY 60
VINITA OK 74301

Ship To:

JOHNS TRACTOR WORKS

DW3

**Unit: 3365 Model: MF175/w/ loader
S/N:9A52407**

Tag: purple wave Desc: MF175 - 5,889.3 Hours

DW3 02/08/16 Installed the battery. Bleed the fuel system and started the tractor. Ran the valves and checked to make sure it was oiling on top. Installed the hood and muffler. Added antifreeze.

SL	RECONDITION	1.5000	\$55.00	\$82.50
			Total:	\$82.50

DW4

**Unit: 3365 Model: MF175/w/ loader
S/N:9A52407**

Tag: purple wave Desc: MF175 - 5,889.3 Hours

DW4 02/10/16 Installed the loader frame and drove outside. Removed a tire and cleaned the work area.

SL	RECONDITION	0.6667	\$55.00	\$36.67
			Total:	\$36.67

DW5

**Unit: 3365 Model: MF175/w/ loader
S/N:9A52407**

Tag: purple wave Desc: MF175 - 5,889.3 Hours

DW5 03/14/16 Re-installed the tire on the tractor.

SL	RECONDITION	0.3000	\$55.00	\$16.50
			Total:	\$16.50

TB1

**Unit: 3365 Model: MF175/w/ loader
S/N:9A52407**

Tag: purple wave Desc: MF175 - 5,889.3 Hours

TB1 03/23/16 Moved hay away from the loader. Brought in the tractor and removed the old seat. Installed a new seat. Took the tractor out and installed the loader. Repaired the throttle and lubricated the levers. Checked the fluids, aired up the tire, washed the tractor and took it up front.

SL	RECONDITION	4.2000	\$55.00	\$231.00
			Total:	\$231.00

Labor	\$1,682.08
--------------	-------------------

Bill To:

JOHNS TRACTOR WORKS
JOHNS TRACTOR WORKS
444934 E HWY 60
VINITA OK 74301

Ship To:

JOHNS TRACTOR WORKS

Parts	\$265.74
Misc Charges	\$12.05

Totals

Sub Total	\$1,959.87
Total Tax:	\$0.00
Invoice Total	\$1,959.87

Forms of Payment

Type	Description	Amount
INTERNAL UNIT	Unit Number: 3365	\$1,959.87
Total Forms of Payment:		\$1,959.87